HEXAG N

Delivering Engineered Solutions Globally.

TRUGRID® Corrosion Resistant
FRP Handrails, Caged Ladders & Structural Shapes

ENGINEERING + DESIGN MANUFACTURING + DISTRIBUTION TRADING + SERVICES



CONTENTS

Company Introduction
Quality Control
Benefits & Characteristics

Typical Physical Properties of Pultruded Components

Technical Data
TRUGRID® FRP Handrail System
TRUGRID® FRP Ladder System

TRUGRID® FRP Structural Profile System

Product Code

Page



HEXAG{®N

Company Introduction

HEXAGON COMPOSITE SDN. BHD.

The Advance Composite Manufacturer

Fibreglass Reinforced Plastic Composite (FRP) Pultrusion started as a division of
Polymer Composite Asia (PCA) in 1989 under Hexagon Holdings Berhad, a Malaysian
Public Listed Company with diverse business activities including providing engineering
and design services, manufacturing & distribution, and trading & services for industrial
purposes.

PCA Pultrusion was specialised in the manufacture of FRP gratings, cable support
systems, stair treads, handrails, ladders and structural profile systems from advance
composite materials under the brand name of TRUGRID®.

PCA FRP products have been widely supplied to various industries worldwide, such
as oil & gas, marine & shipping, power & utilities, petrochemical & chemical, renewable
energy, building & construction, etc.

In 2008, PCA Pultrusion went through a corporate transformation and thereafter was
known as Hexagon Composite Sdn. Bhd., an independent subsidairy of Hexagon
which specialises in manufacturing and supplying FRP pultruded products. The brand
TRUGRID® was still adopted and used.




Quality Control

The Quality Control Process

HEXAG{®N

Assures consistent production conformity to product specifications by verifying that:

» Raw materials meet or exceed the required standard specification.

* Processing conforms to established parameters in accordance with developed quality plan.

* Products conform to the required specification.

Bl

o o
[y ey vy p—————

LESEN PENSIIILAN BARANGAN
Praiat Conbifialion Livence

]
AT 1N, JALAN KPR T

AAMASAY FERRCTHTRIAN AL AL BALARONG
A B L

EE LRSS CARA THELK

< e g Ta e e i w g
e L

2L Adch BTRF TS T FLLATIS 0 M AN SRR

Fmass iy s e S SEDOE

P e I R EE
e

A AR el

SIRM - BS 4592 : PART 4: 1992

®

CERTHICATE OF AFFROVAL

Thit . oy [t e Chaaity Mdarusgerns. Syt of

Hexsgon Composite Sdn, Bhd, (£19254-5)
Balakomy, Selangor
Malaysia
s e g oy iyl Mg iy A
o S siomrg, Chasily Mt yster Sarsdaris
1500 00 11008
L5 150 SO0N 3008

The ity bsmagerren Sprie. 4 s sl 1

if Filsre Glads Plasgtir [FRF] g

wuch oy gratingy, cable keddert & trayy, vial braady, handial,

tnatusl profls secton shd ofsr FRP produns.

®

CEETIFICATE OF AFPROVAL

Tha & 10 cerSfy e T Qhail Sy Maragerwrd yilers of

Hexagon Composite Sdn, Bhd, (EHI5-K)
Ealakong. Selangor

i et apprtowesd by Lie'n Rerpreier Qraslty Alsarasan
1 o Vol Doty Waeakorroe 1, Syt Slardari

TR 9001:3000
ME 50 B0 2008

Trap sl PSPy B apbrable 1

Banulscture of Fibre Glaa Asintored Plasks (FRF) product

B ma gl By 1 e 00
Cefaas b ALY IODEMIE
G Gt 5 B 0

Cothunss gy 34 herw POT

AT

e E— T

BB il Tetal of | vl | gt Clasily Aens e

om e v e en—

F

An ISO 9001:2008 certified manufacturer, thus ensuring premium quality and reliable products.



HEXAG{®N

Benefits & Characteristics

a) Corrosion Resistance
- Stands up to harsh environment

b) Non-Conductive
- Greatly reduces the risk of weather related incidents and shock hazard

c¢) High Strength
- Strength to weight ratios that surpass equivalent steel products

d) Low Maintenance
- Does not require a periodic maintenance program

e) Low Deformation
- Returns to original position without any permanent deflection or distortion with allowable
loads.

f) Lightweight
- Extremely lightweight compared to its metal counter parts

g) Fire Retardant
- In accordance with ASTM-E84

h) UV Inhibited
- Contains an ultra violet inhibiting additive in resin and a protective vell

i) Handrail Easily Fabricated in the field
- Use normal metal or wood working tools

j) Low Thermal Conductivity
- Will not transfer heat or cold like metal products

k) Cost Effective
- Extremely long life compared to metal counter parts

1) Non-Skid Surface
- Epoxy surface encapsulating grit or glass beads

m) Non-interfering
- Transparent to radio waves

\ Power Plants

\ Industrial \

F

\ Oil and Gag \

Aoe

\ Mining

)

\ Offshore \

Ir

‘ Building Construcﬂon‘

2k

Marine \

Ra

% |

C) 2
= m
s m
Y 1)
g 3
O S
0
g Y
s g

Q

\ Transportation \

z
S

[ EMI/RFI Testing |
M7
20

Ca

\ Pollution Control\

-

\ Chemical \

Plating

i

Metal Finishing

I

\ Water Treatment \

| SAAAAS
[ SAAAAS
| SAAAAS
[SAAAAS

mim




HEXAG{®N

Typical Physical Properties of Pultruded Components

Property ASTM TEST Polyester Vinyl Ester
Mechanical

Tensile Stress D638 psi 30,000 30,000
Tensile Modulus D638 psi x 106 25 2.6
Compressive Stress, Axial D695 psi 30,000 30,000
Flexural Stress D790 psi 30,000 30,000
Flexural Modulus D790 psi x 106 1.6 1.6
Notched Izod Impact D256 ft-Ibs/in 24 25
Short Beam Shear D3914 psi 4,500 4,500
Physical

Barcol Hardness - - 45 45

24 Hr Water Absorption D570 % max 0.5 0.5
Density D792 Ibs/in3 0.060~0.070 0.060~0.070
Coefficient of Thermal D696 10-6 in/in/°F 4 4
Electrical

Arc Resistance D495 seconds 110 110
Dielectric Strength D149 KV/in 35 35




11
CITELERRTYY

LLEELERTIRT

TRUGRID® FRP Handrail System

CEREERRREER)
Ay




HEXAG{®N

TRUGRID® FRP Handrail System - Product Specification

L(1"-511")
FRP SQUARE TUBE
2"x2"x1/4% |
,,,,,,,, LN/
X [ %
\ Detail ‘A
S
o
<
Detail ‘B’
T 1
/
o 57 + —+ Oooo\?
© 4
§ L7
/ \
—dl= e |1 ES .
N N @ 1L J & B
\\_\]/ J
Detail ‘C’ FRP FLAT PLATE FRP FOOT BRACKET

102MM W x 3MM t

(REMOVABLE / FIXED)

Above handrail set consists of 2 horizontal rails, 2 vertical posts,

1 kick plate & 2 fixed foot bracket

Standard height of the handrail is 1016mm

L(>6-12)

FRP SQUARE TUBE
/i 2"x2"x 1/ 4

FRP SQUARE TUBE

/i 2"x2"x1/4t

1016

430

N
5
o
1

o4&

IE = S Iz~ =

Detail ‘C’

FRP FLAT PLATE
102mm W x 3 mm t

4
j FRP FOOT BRACKET J

(REMOVABLE / FIXED)

Above handrail set consists of 2 horizontal rails, 3 vertical posts,
1 kick plate & 3 fixed/removable foot bracket

DETAIL ‘A

DETAIL ‘B’

S$8316 M10x90
BOLT, WASHER,NUTS

S$8316 M10x35
BOLT, WASHER,NUTS

=<

102

\

34|34 34

8§8316 M10x120

ANCHOR BOLT
Note:
DETAIL 'C’

Scale 1:3

1.All joints are sealed with epoxy.
2.All cut edges are sealed with resin.




HEXAG{®N

TRUGRID® FRP Handrail System - Installation

Male Base without Bracket (G.l.)

1%"x 14" 0D
G.l.Hollow section

Female Base with Floor
Mounting Bracket (G.l.)

Female Base without Bracket (G.l.)

Handrail post
2"X 2"X %I’
FRP square tube

Welding

Site support structural
can be in I-beams,
C-channels or tubular

Handrail post
2”X 2”X '|AII
FRP square tube

Welding

Site support structural
can be I-beams,
C-channels or tubular

Fixed/Removable Male Base with
Floor Mounting Bracket (FRP)

HOLLOW SECTION

50x50x1/4t \4
T 635t

1l —SS316 M10x120
gt ANCHOR BOLT

o
-

S§8316 M10x120
ANCHOR BOLT




TRUGRID® FRP Ladder System

1 e
;e

| L |F - ~
. - b S T e
Sy e N 7 7 g NS
LA b B \
- - ! .-".. | i "
| | \ F i \ " 4
e (4L ;.
4 1 - 1 L9
T X 1
\
;
= *
W \



HEXAG{®N

TRUGRID® FRP Ladder System - Product Specification

700
700 350 ‘ 350
L . / _
I O
o
?:560 ‘
o o
o o
=|
5 S i j\ /‘»“

y PLAN
—TOP TANK LEVEL || '

200 Ln_ 700
350 | 350

&

=- g L K/\ /“
o : I SECTIONAL VIEW
E = \ 40 x 6 thk
VERTICAL BAR

50 x 6 thk HOOP

= 25 FRP SOLID ROD
S
[ee] (=] .
g 50 x 50 x 6 thk
i S FRP SQUARE TUBE
Q
N
| 8 O\ 1o 8oL & NUT
=1
450
Notes :

1. All joints are sealed with resin.

2. Each rungs receives 1 FRP pin thru side rails.
3. All rungs are with non skid coating on surface.
4. All cut edges are sealed with resin.

5. All fasteners - SS 304 or SS 316.



HEXAG{®N

TRUGRID® FRP Ladder System - Product Specification

2 229MIN
457 oZ S
=
— — 1 §I 1
8l | 11
[ ]
I 1 nnnc—o—§
H 1 . U
NERP B ] il
| | =
~ R
H - 0
] - ) g O:I:
- 0 S
° A ™
N (
FoRCARIY || 800 T
I 915 | Gl =1 J
- < g | |
u N T 8| ~
BOTTOM HOOP ™ FLOOR
| 102 LARGER
i 18 L Method of wall mounting as follows:
A. To concrete - use cinch anchor
B. To fiberglass tanks - epoxy and rivet
Std Ladder & Cage Wet Well Ladder
T Notes:
S
2 1. All joints are sealed with epoxy.
ol [T =" 2. Each rung will be rivets secured through inserted
el —{ to the back of each side rails.
| 3. All rungs are sealed with resin.
ol F
% | 4. All cut edges are sealed with resin.
3 E 5. Cages also available in side exit.
| 6. Ladder returns to handrail or exit level.
(o]
S| H 7. Wider exits also available.
i i v/
f—
508
Tank Platform Ladder Combination
Installation

+ Ladders can be installed to platforms or tanks using brackets and fasteners.

10



TRUGRID® FRP Structural Profile System




HEXAG{®N
TRUGRID® FRP Structural Profile System -

Symbols for Elements of Sections

Cross-sectional area (in?)

A, Cross-sectional area of web or webs (in?)
Outside diameter pf round tube (in)
Diameter of round tube (in)

Diameter of round hole in square tube (in)

I Moment of inertia (in*)

J Torsional constant (in*)

R Radius (in)

R; Flange toe radius (in)

R, Radius of inside corner (in)

R, Radius of outside corner (in)

S Section modulus (in®)

S, Section modulus from the bottom of an unsymmetrical section (in®)
S, Section modulus from the top of an unsymmetrical section (in®)

Wit Weight of section (Ibs)

b Width of section (in)

Outside dimension of square tube or bar (in)
b; Width of flange (in)
b, Width between flange section in strut (in)

Top Width of hat section (in)

d Full depth of section (in)

d, Outer depth of shape in F section (in)

r Radius of gyration (in)

s Spacing between back to back channels or angles (in)
t Thickness of section (in)

Wall thickness of tubes (in)

t, Thickness of width dimension (in)

t, Thickness of depth dimension (in)

t; Thickness of flange (in)

t, Thickness of web (in)

X Distance from the outside of the web to the minor (Y-Y) axis of a channel section or other similar

unsymmetrical sections (in)
y Distance from neutral X-X axis to the outer-most fibers of a cross section (in)

Distance from the back of the flange to the major (X-X) axis of a tee section or other similar
unsymmetrical sections (in)

12



HEXAG{®N
TRUGRID® FRP Structural Profile System -

Product Specification

bf
Y - tf Product Specifications
y i
’——}_T Product : Pultruded FRP C-Channels
Material : 1. Isophathalic Polyester
2. Isophathalic Polyester
tw— — (Fire Retardant)
3. Vinyl Ester
d X X Length : Standard 20 Feet
/_ _Ri
N
N ]
—X—
R’ Y
Mechanical Strengh Data (Longitudinal)
Tensile Strength 30,000 PSI
Tensile Modulus 2.5 x 108 PSI
Flexural Strength 30,000 PSI
Flexural Modulus 1.6 x 108 PSI
Impact Strength 25 ft-Ib / in
Dielectric Strength 35KV /in
Physical Data
Barcol Hardness 45
24 Hrs. Water Absorption 0.6% Max
d bf | tw | tf AWML R | R AXIS X-X AXIS Y-Y
in | in in | in | in | bs | in | in d | ]s | rjt]s]rj]x
in in* ind in in* in® in in
2 1 3/16 | 3/16 | 0.68 |0.49 | 1/16 | 1/32
2 |0.38 [ 0.38 | 0.74 | 0.06 | 0.09 | 0.30 | 0.32
3 |1-1/16 | 3/16 | 3/16 |0.87 | 0.68 | 1/16 | 1/8
3 [1.03 | 0.68| 1.09 | 0.07 | 0.09 | 0.28 | 0.27
4 |[11/8 | 14 | 1/4 [138 [1.05 | 1/4 | 1/2
4 |2.87 [1.43|1.41]0.13|0.15|0.30 | 0.30
4 | 1-5/8 | 3/16 | 3/16 | 1.29 | 0.95 | 1/4 | 1/2 4 |296 | 148|152 030|015 |048 |0.38
6 | 1-5/8 | 1/4 | 1/4 213 | 162 | 1/8 | 3/8 6 [10.22(3.41|216| 043|035 |0.44 | 0.38
7 2 1/4 174 | 263 | 195 | 1/4 112 7 [17.12]4.89 | 255 | 0.82| 0.53 | 0.56 | 0.46
8 |2-316| 358 | 3/)8 |436 [ 331 | 1/5 | 3/5 8 [25.90| 6.50| 2.44 | 1.51|0.91 | 0.59 | 0.55

13



HEXAG{®N
TRUGRID™ FRP Structural Profile System -

Product Specification

~ b 4" Product Specifications

Y
Product : Pultruded FRP Square Tubes

Material : 1. Isophathalic Polyester
2. Isophathalic Polyester
— | -—t, (Fire Retardant)
3. Vinyl Ester
Length : Standard 20 Feet

———X

I

} Y

Mechanical Strenghth Data (Longitudinal)

Tensile Strength 30,000 PSI

Tensile Modulus 2.5 x10° PSI

Flexural Strength 30,000 PSI

Flexural Modulus 1.6 x 10¢ PSI

Impact Strength 25 ft-Ib / in

Dielectric Strength 35KV /in
Physical Data

Barcol Hardness 45

24 Hrs. Water Absorption 0.6% Max

Section Properties

d bf | tw | ff A | NOM Ry | s r | s r
in in in in in? lbs in in* | in? in in* | ind in
6 3 0.25 | 0.25 | 290 | 220 | 0.30 1297|432 | 212 | 1.13| 0.75 | 0.63
4 2 025 | 0.25 | 1.89 | 142 | 0.25 3.69 | 1.85| 140 | 0.34| 0.34 | 042

14



HEXAG{®N
TRUGRID™ FRP Structural Profile System -

Product Specification

Product Specifications

Product : Pultruded FRP Square Tubes
@ D Material : 1. Isophathalic Polyester
/- N 2. Isophathalic Polyester
\ . (Fire Retardant)
Ri 3. Vinyl Ester
Length : Standard 20 Feet

Ro/ Y
Mechanical Strenghth Data (Longitudinal)

Tensile Strength 30,000 PSI

Tensile Modulus 2.5 x10° PSI

Flexural Strength 30,000 PSI

Flexural Modulus 1.6 x 10¢ PSI

Impact Strength 25 ft-Ib / in

Dielectric Strength 35KV /in
Physical Data

Barcol Hardness 45

24 Hrs. Water Absorption 0.6% Max

Section Properties
Dimensions q t | s r A

d t A '\\/l\/o:[/'xI R, R, Webs
in in in? Ibs in in in in in* in? in in2
2 1/8 0.93 0.69 3/64 1/8 2 1/8 055 | 055 | 0.77 | 0.44
2 1/4 1.74 1.32 3/64 1/8 2 1/4 091 | 091 | 073 | 0.75
3 1/4 2.74 2.23 1/32 3/16 3 1/4 350 | 233 | 1.13 | 1.25
4 1/4 3.75 2.85 1/11 3/19 4 1/4 882 | 441 | 153 | 1.67

15



HEXAG{®N
TRUGRID® FRP Structural Profile System -

Product Specification

b Product Specifications

Product : Pultruded FRP Flat Bars
Material : 1. Isophathalic Polyester

(Fire Retardant)

2. Isophathalic Polyester
t
3. Vinyl Ester

X Length : Standard 20 Feet
R

Mechanical Strength Data (Longitudinal)

Tensile Strength 30,000 PSI
Tensile Modulus 2.5 x 108 PSI
Flexural Strength 30,000 PSI
Flexural Modulus 1.6 x 10° PSI
Impact Strength 25 ft-lb / in
Dielectric Strength 35 KV /in
Barcol Hardness 45

24 Hrs. Water Absorption 0.6% Max

Section Properties

NOM.

b t A WiH/ft R b I s r | s r
in in in2 Ibs in in in in? in in in® in
3 0.5 1.5 1.19 5/128 3 0.0313| 0.1250| 0.1443| 1.1250| 0.7500| 0.8660
4 0.5 2.0 1.59 5/128 4 0.0417| 0.1667| 0.1443| 2.6667| 1.3333| 1.1547
5 0.5 2.5 1.99 5/128 5 0.0521| 0.2083| 0.1443| 5.2080| 2.0830| 1.4434
6 0.5 3.0 2.39 5/128 6 0.0625| 0.2500| 0.1443| 9.0000| 3.0000| 1.7321




HEXAG{®N
TRUGRID® FRP Structural Profile System -

Product Specification

/4(’/? Product Specifications

Product : Pultruded FRP Angles
Material : 1. Isophathalic Polyester

Y 2. Isophathalic Polyester
(Fire Retardant)
3. Vinyl Ester
Length : Standard 20 Feet
o R = 3/32
X X |
\/
M | t
|
b
R, =5/32" % VA
Tensile Strength 30,000 PSI
Tensile Modulus 2.5 x 10° PSI
Flexural Strength 30,000 PSI
Flexural Modulus 1.6 x 10° PSI
Impact Strength 25 ft-Ib / in
Dielectric Strength 35 KV /in
Barcol Hardness 45
24 Hrs. Water Absorption 0.6% Max

Section Properties

| Dimensions | AXIS X-X or Y-Y AXIS Z-Z
b t A M. b | t | s r | Xory| | r
in in in2 Ibs in in in* in3 in in in in

1-1/2 1/4 0.67 0.52 1-1/2 1/4 0.13 | 0.13 0.44 0.46 | 0.06 | 0.29
2 1/4 0.92 0.77 2 1/4 0.34 | 0.24 0.60 058 | 0.14 | 0.39
3 114 142 1.09 3 1/4 1.18 | 0.54 0.91 0.82 | 0.49 | 0.58
4 1/4 102 153 4 | 14 |294 [1.00 | 123 | 1.07 | 121 | 0.79

17



HEXAG{®N
TRUGRID™ FRP Structural Profile System -

Product Specification

Product Specifications

Product : Pultruded FRP Round Tube
Material : 1. Isophathalic Polyester
t— D 2. Isophathalic Polyester
(Fire Retardant)
3. Vinyl Ester
Length : Standard 20 Feet

Mechanical Strength Data (Longitudinal)

Tensile Strength 30,000 PSI

Tensile Modulus 2.5x 10¢ PSI

Flexural Strength 30,000 PSI

Flexural Modulus 1.6 x 10° PSI

Impact Strength 25 ft-Ib / in

Dielectric Strength 35 KV /in
Physical Data

Barcol Hardness 45

24 Hrs. Water Absorption 0.6% Max

Section Properties

b t A | N D t | s ‘
in in in2 Ibs in in in in3 in
1 1/8 0.34 0.25 1 1/8 0.034 0.07 0.31
1-% 1/8 0.54 0.45 1-% 1/8 0.13 0.17 0.49
3 5/32 1.39 1.07 3 5/32 1.42 0.94 1.01




HEXAG{®N
TRUGRID™ FRP Structural Profile System -

Product Specification

Product Specifications

Product : Pultruded FRP Solid Rod
Material : 1. Isophathalic Polyester
D 2. Isophathalic Polyester
(Fire Retardant)
3. Vinyl Ester
Length : Standard 20 Feet

Mechanical Strength Data (Longitudinal)

Tensile Strength 100,000 PSI
Tensile Modulus 6.0 x 108 PSI
Flexural Strength 100,000 PSI
Flexural Modulus 6.0 x 108 PSI
Impact Strength 37 ft-Ib / in
Dielectric Strength 35 KV /in
Physical Data
Barcol Hardness 45
24 Hrs. Water Absorption 0.6% Max

NOM.

D A Wi/ft D I S r
in in? Ibs. in in* in? in
Ya 0.05 0.04 Ya < 0.001 0.002 0.063
3/8 0.1 0.10 3/8 0.001 0.005 0.094
A 0.20 0.17 Ya 0.003 0.012 0.125
1 0.79 0.69 1 0.049 0.098 0.250
1-% 1.77 1.52 1-% 0.248 0.331 0.375




HEXAG{®N
TRUGRID® FRP Structural Profile System -

Product Specification

Product Specifications

Product : Pultruded Decking System
Material : 1. Isophathalic Polyester
2. Isophathalic Polyester
(Fire Retardant)
3. Vinyl Ester
Length : Standard 20 Feet

Mechanical Strength Data (Longitudinal)

Tensie Strength 30,000 PSI
Tensie Modulus 2.6 x 10°PSI
Flexural Strength 30,000 PSI
Flexural Modulus 1.6 x 10° PSI
Impact Strength 25 ft-fb / in
Dielectric Strength 35KV /in
Barcol Hardness 45

24 Hrs. Water Absorption 0.6% Max

Section Properties

 Dimensions | FVEREN AXIS Y-Y
NOM.
W D Wit/ft | S r | S r
in in lbs in* in’ in in* in’ in
12 1.12 1.8 0.31 | 0.38 | 0.36 [39.04 | 5.70 | 4.06




HEXAG{®N
TRUGRID® FRP Structural Profile System -

Product Specification

A
v

Product Specifications

Product : Pultruded Decking System
Material : 1. Isophathalic Polyester
2. Isophathalic Polyester
(Fire Retardant)
3. Vinyl Ester
Length : Standard 20 Feet

Mechanical Strength Data (Longitudinal)

Tensile Strength 30,000 PSI

Tensile Modulus 2.6 x 108 PSI

Flexural Strength 30,000 PSI

Flexural Modulus 1.0 x 108 PSI

Impact Strength 25 ft-lb / in

Dielectric Strength 35 KV /in
Physical Data

Barcol Hardness 45

24 Hrs. Water Absorption 0.6% Max

Section Properties

W D l\\lNOt/I\]flt I s r I s r
in in Ibs in in® in in in® in
8 2 3.6 273 2.39 0.76 30.03 7.51 2.50




HEXAG{®N

PRODUCT CODE

NO |PRODUCT CODE ITEM MODEL
1 GTSL(G) GRATING (GRITTED) SLIM
2 GTSL GRATING SLIM
(NON GRITTED/SMOOTH)
GTTW(G) GRATING (GRITTED) ™
GTTW GRATING ™
(NON GRITTED)
3 BS BAR SCREEN SLIM
4 CT CABLE TRAY -
5 CJT CABLE JOINT TRAY -
6 FDM FANDECK (MARLY) -
7 FD FANDECK -
8 CcC C-CHANNEL -
9 SQ SQ HOLLOW -
10 AB ANGLE BAR -
11 FB FLAT BAR -
12 SR SOLID ROD -
13 RG RUNG -
14 B I-BEAM -
15 PF 01 PROFILE 1 -
16 PF 02 PROFILE 2 -
17 FS FRP STRUT -
18 RT ROUND TUBE -
19 HDC Hold Down Clamp -
20 MC (SL) M Clips for grating type slim -
21 MC (TW) M Clips for grating type TW -
22 DC D Clips -
23 GC G Clips -
24 HB Hex Head for Bolts & Nuts -
25 SB Socket Head for Bolts & Nuts -
PB Philips pan Head Bolts -
26 LNG Ladder without cage -
27 LWG Ladder with cage -
28 ST Stairhead -

MATERIAL CODE

NO | MATERIAL CODE MATERIAL

1 GP GP

2 ISO ISO

3 VE VE

4 FR FR

5 304 Stainless Steel 304
6 316 Stainless Steel 304

COLOUR CODE

NO |COLOUR CODE COLOUR
1 GY GREY

2 GN GREEN

3 YL YELLOW

4 BL BLUE

5 BR BROWN

6 WH WHITE

22




HEXAG{®N

PRODUCT CODE

NO CODE ITEM MODEL Size OPENING
IMPERIAL (INCH) MATRIX (MM)

1 16 (79) GRATING SLIM 5/8 15.9 79%

2 25 (67) GRATING / STAIRTHREAD | SLIM 1.0 254 67%

3 38 (67) GRATING / STAIRTHREAD | SLIM 1.5 38.1 67%

4 51 (67) GRATING SLIM 2 50.8 67%

5 25(40) GRATING / STAIRTHREAD | TW 1.0 254 40%

6 25 (50) GRATING / STAIRTHREAD | TW 1.0 254 50%

7 25 (60) GRATING / STAIRTHREAD | TW 1.0 254 60%

8 38 (40) GRATING / STAIRTHREAD | TW 1.5 38.1 40%

9 38 (50) GRATING / STAIRTHREAD | TW 1.5 38.1 50%

10 38 (60) GRATING / STAIRTHREAD | TW 1.5 38.1 60%

1 51 (40) GRATING ™ 2.0 50.8 40%

12 51 (50) GRATING TW 20 50.8 50%

13 51 (60) GRATING ™ 2.0 50.8 60%

14 16 (65) BAR SCREEN SLIM 5/8 15.9 65%

15 16 (70) BAR SCREEN SLIM 5/8 15.9 70%

16 16 (79) BAR SCREEN SLIM 5/8 15.9 79%

17 50 CABLE TRAY - 50 -

18 100 CABLE TRAY - 100 -

19 150 CABLE TRAY - 150 -

20 300 CABLE TRAY - 300 -

21 305 x 28 CABLE JOINT TRAY - 400 -

22 305X 28 FANDECK (MARLY) - 305(w) x 28(d) -

23 305 x 28 FANDECK - 305(w) x 28(d) -

24 203 x 51 x6 FANDECK - 8(w)x 2(d) x 1/4(t) 203.2(w) x 50.8(d) x 6.4(t) -

25 305x28x3 FANDECK - 305 (w) x 28 (d) x 3(t) -

26 500 x 70 x 4 FANDECK - 500 (w) x 70 (d) X 4 (1) -

27 50x25x5 C-CHANNEL - 2 (d)x 1 (w)x3/16 (t) 50.8(d) x 25.4(w) x 4.8(t) -

28 76 x27 x5 C-CHANNEL - 3 (d) x 1 1/16(w) x 3/16 (t) 76.2(d) x 27 (w) x 6.4(t) -

29 101x29x6 C-CHANNEL - 4 (d)x 11/8 (w) x 1/4 (t) 101.6(d) x 28.6(w) x 6.4 (t) -

30 102x41x5 C-CHANNEL - 4 (d) x 1 5/8 (w) x 3/16(t) 101.6 (d) x41.3 (w)x 4.8 (t) |-

31 152 x41x5 C-CHANNEL - 6 (d) x 15/8 (w) x4.8 (t) 152.4(d) x 41.3 (w) x 4.8(t) -

32 152 x41x6 C-CHANNEL - 6 (d) x 1 5/8 (w) x 1/4(t) 152.4(d) x 41.3 (w) x 6.4(t) -

33 178 x51x 6 C-CHANNEL - 7 (d) x 2 (w) x 1/4 (1) 177.8(d) x 50.8(w) x 6.4(t) -

34 203 x 56 x 10 | C-CHANNEL - 8(d) x 2 3/16(w) x 1/4 (t) 203.2 (d) x 55.6(w) x 9.5(t) -

35 64 x 24 x 3 x 5 | C-CHANNEL - 64(d) x 24(w) x 3(t) x 5(t) -

36 45x45x6 SQ HOLLOW - 13/4 (d) x 1 3/4(w) x 1/4 (t) | 44.5(d) x 44.5 (W) x 6.4 (t)

37 51x51x3 SQ HOLLOW - 2 (w)x 2 (w)x1/8(t) 50.8(w) x 50.8 (w) x 6.4 (t) -

38 51x51x6 SQ HOLLOW - 2 (w)x 2 (w)x 1/4(t) 50.8(w) x 50.8(w) x 6.4(t) -

39 76 x76 x 6 SQ HOLLOW - 3 (w)x 3 (w)x1/4(t) 76.2(w) x 76.2(w) x 6.4(t) -

40 102x102x6 | SQ HOLLOW - 4 (w) x4 (w)x 1/4 (t) 101.6 (w) x 101.6(w) x 6.4(t) | -

41 38x38x6 ANGLE BAR - 1.5(w) x 1.5(w) x 1/4 (t) 38.1(w) x 38.1 (W) x 6.4 (t) -

42 51x51x6 ANGLE BAR - 2 (w) x 2 (w) x 1/4(t) 50.8 (W) x50.8 (W) x 6.4 (t) |-

43 76 x 76 x 6 ANGLE BAR - 3 (w) x 2(w) x 1/4(t) 76.2(w) x 76.2 (W) x 6.4(t) -

44 102 x 102 x6 | ANGLE BAR - 4(w) x 2(w) x 1/4(t) 101.6(w) x 101.6(w) x 6.4 (t) | -

45 76 x 6 FLAT BAR - 3(w) x 1/4(t) 76.2(w) x 6.4(t) -

46 102 x 6 FLAT BAR - 4 (w)x 1/4 (t) 101.6 (w) x 6.4(t) -

47 127 x 6 FLAT BAR - 5 (w) x 1/4 (t) 127 (w) x 6.4 (t) -

48 152 x 6 FLAT BAR - 6(w) x 1/4 (1) 152.4 (w) x 6.4(t) -

49 76 x 13 FLAT BAR - 3(w) x 1/2 (1) 76.2 (W) x 12.7(t) -

50 102 x 13 FLAT BAR - 4(w) x 1/2(t) 101.6 (w) x 12.7(t) -

23




HEXAG{®N

PRODUCT CODE

NO CODE ITEM MODEL Size OPENING
IMPERIAL (INCH) MATRIX (MM)
51 | 127x13 FLAT BAR - 5 (w) x 1/2 (t) 127 (w) x 12.7 (t) -
52 | 760x3 FLAT BAR - 760 (w) x 3 (t) -
53 |3 SOLID ROD - 1/8 (dia) 3.2 -
54 |6 SOLID ROD - 1/4(dia) 6.4 -
55 |10 SOLID ROD - 3/8 (dia) 95 -
56 |13 SOLID ROD - 1/2 (dia) 12.7 -
57 |16 SOLID ROD - 5/8 (dia) 15.9 -
58 |25 SOLID ROD - 1 (dia) 25.4 -
59 |38 SOLID ROD - 1.5 (dia) 38.1 -
60 |[25x25 RUNG - 1X1 25.4 x 25.4 -
61 |40x25x4 RUNG CHANNEL - 40 x 25 x 4(t) -
62 |30 DOOR FRAME SUCTION | - 30 -
63 |30 DOOR PREASSURE - 30 -
SUCTION
64 |51x102x6 |I-BEAM - 2(w) x 4(d) x 1/4 (t) 50.8(w) x 101.6(d) x 6.4(t) | -
65 |76x152x6 |I-BEAM - 3(w) x 6(d) x 1/4(t) 76.2(w) x 152.4(d) x 6.4(t) | -
66 | std PROFILE 1 - -
67 | std PROFILE 2 - R
68 |41x41x4 FRP STRUT - 41x41x4 -
69 |76 ROUND TUBE - 3 (dia) 76.2 (dia) -
70 |[38x28x5 ROUND TUBE - 38 (OD)x 28 (ID)x5.05 |-
71 | M6x25 HEX HEAD BOLT & NUT | - - M4 x 20 -
72 | M6x25 HEX HEAD BOLT & NUT | - - M6 x 25 -
73 | M6x35 HEX HEAD BOLT & NUT | - - M6 x 35 -
74 | M6 x50 HEX HEAD BOLT & NUT | - - M6 x 50 -
75 | M6x65 HEX HEAD BOLT & NUT | - - M6 x 65 -
76 | M10x 35 HEX HEAD BOLT & NUT | - - M10 x 35 -
77 | M10x 30 HEX HEAD BOLT & NUT | - - M10 x 30 -
78 | M10x 50 HEX HEAD BOLT & NUT | - - M10 x 50 -
79 | M12x45 HEX HEAD BOLT & NUT | - - M12 x 45 -
80 | M6x20 PHILIPS PAN HEAD - - M6 x 20 -
BOLTS
81 | M6x50 PHILIPS PAN HEAD - - M6 x 50 -
BOLTS
82 | M8x25 PHILIPS PAN HEAD - - M8 x 25 -
BOLTS
83 | M8x30 PHILIPS PAN HEAD - - M8 x 25 -
BOLTS
84 | M10x25 PHILIPS PAN HEAD - - M10 x 25 -
BOLTS
85 | M10x 30 PHILIPS PAN HEAD - - M10 x 30 -
BOLTS
86 |M12x25 PHILIPS PAN HEAD - - M12 x 25 -
BOLTS
87 | M12x30 PHILIPS PAN HEAD - - M12 x 30 -
BOLTS
88 | M6 x50 SOCKET HEAD SCREW | - - M6 x 50 -
89 | M8x30 SOCKET HEAD SCREW | - - M8 x 30 -
90 [m8x45 SOCKET HEAD SCREW | - * M8 x 45 -

24



HE XAG N

Delivering Engineered Solutions Globally.

Distributed By:

HEXAGON COMPOSITE SDN. BHD.

Lot 1903 (A), Jalan KPB7, Kawasan Perindustrian Kampung Baru Balakong, 43300 Seri Kembangan, Selangor, Malaysia.
Tel:+ 603-8961 0037 Fax:+ 603-8962 1011 inquiry_hc@hexagonholdings.com

www.hexagoncomposite.com



